Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -6 (NEW)- EXAMINATION ~WINTER-2022

Subject Code: 3361906 Date : 16-12-2022
Subject Name: Power Plant Engineering
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of simple calculators and non-programmable scientific calculators are permitted.
English version is authentic.
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Q1 Answer any seven out of ten. izl SIHUBRL Ald<ll syALoL 21Ul
Define Iso topes with example.

o< GELRBL P 2USHL 2l 4o 241,

Define base load power plant and give its one example.

6167 QIS ULAR Welle2el| vl iU def 25 Glsi Qv

Write any four advantages of Nuclear power plant.

[5642 UIAR Lelle2el 515 URL AR SIAEL QUL

Explain energy conversion in thermal power plants with line diagram.
AU YIAR LetlezHi Blon Ui 5l Il 214 69 d Al SAUM 1L AHMA.
Write any four name of boiler accessories.

SISURL 2R AUDAAL AU AL AlH AW,

Draw p-v and T-S diagram for Rankine vapour cycle.

gl AU AASA HIZAL P-V 21 T-S AU €I,

Write any two advantages and disadvantages of superheated steam.
Yulgzs 2211l 516 UBL 6L 51AEL il ARSIAEL AU,

List main elements of hydro power plant.

SLOSLULAR Welle2ell HUA 8251l lH QUL

Write any two advantages and disadvantages of wind power plant.
[Aed ULAR Lelle2ell 515 UBL 6L 5IAEL 24 ARSIAEL AVAL

State any four types of draft tube.

515 UBL AR $152 2401l UsI2 QUL
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Differentiate between Central power plant and Captive power plant. (Any
three points)
URA, R (D) U2 UIAR VAL e 5UZIA UIAR L2l dglAdel 51O WL HBL HEL QUl.

OR

Q.2
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(@)  Write short note on National Grid.

(20)  Andd Al (A9 25l Quil,

(b)  Explain in brief about the Moderator used in nuclear power plant.
(o) 45842 UlAR wele2Hl GUAIIL AdL HIg22 (A2 2511 dHMAl.

OR
(b) Differentiate nuclear fission and fusion reaction. (Any three points)
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A[522 Slovel 2Aed 2Aotelell ALl 51O WL HBL HEL QUL

Explain CANDU Reactor with neat sketch.
CANDU 523+l 429 2H15(d i<l Aummal,

OR
Explain Boiling water reactor with neat sketch.
olEaL A2z Zuts22 U269 2U5(d £12] AHMA.

Draw the general layout of modern thermal power plant.
HigA AN ULAR W@ le2ll o lRd A-24162 2.

OR
List any four advantages and disadvantages of diesel power plant over other
power plant.
(3@ ULGR Letlezell 24 YIAR Letle2ell ARUUHBIHE SIS Bl 212 51451 24 21251451
quil.

Name the different types of boiler furnace and explain any one in brief.
6yel-6%2l BUSEAR el Al Al AV 24 515 215 (A2 2511 AHMA,
OR
Explain Fluidized Bed Combustion system in brief.
5ALTAE 018 53019 Hl2H 25Hi AHMA,

Explain centralized pulverized coal supply system in brief.
A2@lSRs USARIORS 514 ALalld Hl2H 2511 AHMAl,

OR
Explain governing system of thermal power plant with neat sketch.
29E, IR Lelee<il aa-dlon lzzH Ua269 2u5(d izl qumAal.

Explain Velox boiler with neat sketch.

49269 2A15(d £12] AdigL olSEA UHMAL

OR
Explain Schmidt Hartman Boiler with neat sketch in brief.
254182 glaHA ol azl U9269 2U5(d £12] 2541 AHMAL

Rankine Cycle working between 20 bar and 1 bar pressure. Find Rankine
Cycle Efficiency if initial condition of steam is dry and saturated.
25 251 U156 20 bar 24 1 bar eotlil 422, 514 52 69,601 23211l 22|41l (Ralq
1 2 H22228 GOl 25l A5 8lAL AL

OR
Explain need of water treatment plant for boilers.
OUSER HIZ A12R 2l2He2 welez]l sx3<]a1d YHmAl.

Write any three advantages and disadvantages of solar power plant.
LA UIAR Lele2ell 515 UBL ARl S1AEL A 251451 AU,
OR
State any six factors to be considered for selection of type of Hydro Power Plant.
SLOSLUAR ezl YA£allAl 516wl &9 yoilozl @i,

Explain solar air flat plate collector in brief with neat sketch.
AR 212 582 142 5sA522-l U269 H15[d 21Zl 2541 UHMAl,
OR

What is regeneration in gas turbine power plant? Explain in brief with neat
sketch.
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A 2005 UlAR wele2Hi ordeld 212892 U269 2A5(d £12] 2511 A1l

Explain reheat gas turbine cycle with neat sketch in brief. A gas turbine plant
works on Brayton cycle in which air enter into the compressor at 1 bar
pressure and 16°C temperature. Pressure ratio of compressor is 5. Air
temperature at the entrance of turbine is 800 °C. Take air pressure at the exit
of turbine is 1bar. Find out turbine work, compression work, work ratio and
thermal efficiency.

2-6l2 A 20i1Hq Usadl Ua2e9 viiglA 2ldl 25H1 AHMAL Gl AUAsA GUR 5IH
52d1 5 AY 20015 1elle2Hi gAl SIFUUML 1bar £ollil v 16°C dlUHL el Al
89, SIFIUML £oUBLAL MR 5 €9, 20(5dHl elvd Adl ¢dld dluHi4 800 °C.
2oilSHied] dlsndl sald ol 1har Sldl 26l a5, 51FUUR 45, 45 oLEldR i
A0E £EAL A,

Explain solar module and solar array in brief.
AUUE2 HIGAA 2 H1dR 212 (49 2511 AHMAl

Draw the neat sketch of Nuclear Reactor and explain in brief.
sz [Rots2aedl Uazeg 2us(d izl 251l aHmAl.

Explain load curve in brief.
dlg 54 4 2541 Al

Explain Zero Energy House Concept.
ARl WA IGY 52 UHMAL
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